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QUESTION 1

A SATA disk is a disk using a parallel interface type, and a SAS disk is a disk using a serial interface type.
A. TRUE

B. FALSE

Correct Answer: B

QUESTION 2

Cloud computing is the product of the development of the Internet and computing technology, so cloud computing must
be inseparable from the network.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 3
The following description of cloud computing is correct

A. Cloud computing is a technology that enables IT resources to be obtained anytime, anywhere, conveniently, and on
demand

B. Various IT resources in cloud computing need to be paid to use
C. IT resources obtained in cloud computing need to be used through the network
D. In the process of obtaining IT resources, users need to repeatedly negotiate with cloud computing service providers

Correct Answer: A

QUESTION 4

Which of the following statements about the relationship between cloud computing and the Internet of Things is
incorrect?

A. Without cloud computing support, the Internet of Things cannot perform data transmission

B. Cloud computing is the cornerstone of the development of the Internet of Things, and at the same time, the Internet
of Things continues to promote the development of cloud computing

C. Cloud computing can provide enough storage space for massive data of the Internet of Things

D. If there is no cloud computing as the basic support, the work efficiency of the Internet of Things will be greatly
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reduced

Correct Answer: A

QUESTION 5
The following description of big data and cloud computing is.

A. Cloud computing is a collection of data that cannot be captured, managed, and processed with conventional software
tools within a certain time frame

B. Big data is a pay-as-you-go model that provides usable, portable, and on-demand network access
C. Cloud computing cannot function as the underlying computing resource for big data processing
D. Big data can serve as a type of cloud computing service for users to choose according to their needs

Correct Answer: D

QUESTION 6

In Huawei FusionCompute, the description of the "shared" type disk is correct (multi-select).

A. The virtual machine to which this type of hard disk is bound does not support the snapshot function
B. This type of hard disk can only be bound to one virtual machine

C. The virtual machine does not support changing datastores on such hard disks

D. This type of hard disk can be bound to multiple virtual machines

Correct Answer: ACD

QUESTION 7

The following are the north-south traffic (multi-select)

A. Traffic generated by virtual machine live migration

B. Traffic between virtual machines accessing each other across data centers

C. Traffic generated by customers accessing data center business via the Internet
D. Traffic between virtual machines inside the data center

Correct Answer: BC

QUESTION 8
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In Huawei FusionCompute, which of the following factors does DRS perform virtual machine migration? (Multiple
choices)

A. Memory
B.1/0

C. Network traffic
D. CPU

Correct Answer: AD

QUESTION 9

Which of the following is not included in the NAS architecture?
A. Volume management module

B. Status verification module

C. file system

D. Network interface

Correct Answer: D

QUESTION 10

The following options are characteristic of the era of cloud computing 1.0 (multiple choices)
A. Agile application development and life cycle management

B. Focus on virtualization products

C. Standardization and automation of resource services

D. Use virtualization technology to improve resource utilization

Correct Answer: BD

QUESTION 11

If two virtual machines can ping each other, the network device that will be used in the communication process is
A. Distributed Virtual Machine Switch

B. Physical switch

C. Physical network card
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D. Virtual network card

Correct Answer: D

QUESTION 12
In Huawei FusionCompute, the following description of the virtual machine HA is correct (multi- selection)
A. Virtual machine HA function can quickly restore business when a failure occurs When system

B. detects the blue screen of the virtual machine and configures the processing strategy as HA. the system will choose
another normal computing node for reconstruction virtual machine

C. After HA is enabled in the cluster, virtual machines can be rebuilt on other hosts after a host failure As long as
resources are reserved in the D cluster, virtual machines with HA attributes can be rebuilt on other computing nodes
when a fault occurs success

Correct Answer. ABC

QUESTION 13

Virtualization description is correct

A. VMM runs in Guest Machine

B. VMM runs directly on Host Machine
C. VMM runs on Guest OS

D. VMM runs on Host OS

Correct Answer: D

QUESTION 14

In the OpensStack solution, which module does the load provide for persistent block storage?
A. Swift // Object Storage

B. Glance /Il Quick storage

C. Nova // Compute node life cycle

D. Cinder

Correct Answer: D

QUESTION 15
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Features of virtualization include partitioning, isolation, encapsulation and standalone
A.yes
B. wrong

Correct Answer: A
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